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3 €quilibria and 2 Waves of Innovation
An Actors’ Model of the History of Modernity, 1750-2030

1. Problem 2. Starting point of the analysis

déja vu actor-oriented
a process with 3 equilibria System
Globalizations Global shifts Democratizations
transitions between
Economic crises Social inequality Forms of violence But why does the underlying growth process result
in 3 equilibria, not 22 Growty
C el L C el L Time
3. Actors, 1nstitutions, institutional change
industrial society flve arguments actor-oriented theory of institutions and
institutions promise 1s to learn new institutions change
D rules of games, () change is driven by  (4) change discon- (5) Transaction cost
exchange relations tinuous through conventions characteristic sequence
@ Main base (1,1) (0,0) Individuals
organizations
modern growth But how? 0,0) | 11) institutions
4. Combining arguments
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— - organizations tion than tradition resources
—> less chances for reuse — Institutions
— institution even more House-
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5. Results: 3 Equilibria and their institutional innovations
@ Three orientation stages Institutional field Period 1 Innovation 1 Period 2 Innovation 2 D) Politics and work
- Fields with small organizations  Early and continuous Early and continuous come later
traditions Households 1850-1920 Romantic Love ~ 1968-  Divorce/Diversity 6 problems
B organizations Education 1850-1920 Primary expansion 1968-  Tertiary expansion 2 main mechanisms
_ snstitutions Fieldg thh large organizations  Late and more abrupt Late aqd more ab.rupt . . — Location economies
Politics 1949 Democracy+UN  coming higherinformation
— the only stable Work 1949 Differentiation  soon?  efficiency
—> best use of information.
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